© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

43122030 HANSARONDA Style - Fertigmontageset fiir Wanne/Brause

EAN: 4015474105683

static.hansa.com/43122030

Ersatzteile
SP43122030
Name Art.-Nr.

1 Hebel Chrom 43890005
1 Hebel Chrom 43880003
1 Hebel Chrom 59913774
11 Schraube, M5x8, SW2.5 59904755
12 Kunststoffadapter 59904778
13 Dekorkappe Grau 59912112
2 Abdeckkappe Chrom 59912826
22 Nuss, M52x1, SW34 59912825
3 Rosette Chrom 59912827
4 Kartusche, 4.0 Classic 59912791
41 Adapter, d 40 mm Chrom 59912828
5 Griff Chrom 59912807
5.4 Abdeckkappe Chrom 59912824
55 Durchflussbegrenzer 59911897
5.6 Ringschraube, M32x1.5 59911898
57 Umstellung 59912269
58 0-Ringsatz, d 24x2 59911835
7 Auslauf, L=240 59912829
71 Schraube, M6x9.5 59901609
72 Blindstopfen Chrom 59911840
73 Dichtungskit 59912276
74 Rosette Chrom 59912278
8 Luftsprudler, M24x1 D Chrom 59911829
9 Brauseschlauch, L=1750, G1/2-M12x1 Chrom 59912281
9.1 Dichtungsring, d 21x12x2 59912304
92 Riickflussverhinderer 59905714
93 Rosette, M70x1 Chrom 59912287
9.4 Gleitring 59912286
9.5 Halter Chrom 59912282
9.6 Scheibe 59912337
9.7 Schraube, M4x45 59912291
9.8 Schlauchdurchfiihrung 59912290
10 Handbrause Chrom 51170200
101 SchlauchanschluB, G1/2 59912237
10.2 Sieb 59906859
11 Werkzeuge 59912277
NI Verldngerungssatz, L=30 59912879
NI Verldngerungssatz, 30 mm 59912909

1


https://static.hansa.com/43122030

